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VOCABULARY
HAZARDS AND GLOBAL THREATS

Ta Match the words in the box with
their meanings.

asteroid meteor meteorite extinction
collide deflect probe hazardous

1 asmall piece of rock or metal that is
burning up in the Earth’s atmosphere

2 apiece of rock or metal that has come
from space and landed on Earth

3 avery large piece of rock that is
moving through space

4 aspacecraft without people, sent into
space to gather information

5 dangerous

6 make something move in a different
direction

7 crash violently into something

8  when animals or plants stop existing

Tb Complete the text using some of the
words from Exercise Ta.

A massive ' might 2 with the
Earth in the year 2040 causing mass

' . Scientists have been discussing

how to ¢ potentially
asteroids to prevent them hitting the Earth.
One possibility is to send a © to land

on the asteroid and monitor its progress.

READING

2 Read the title of the article. How
much do you know about the threat
of asteroids? Work in small groups and
share your information.

3a Read the article quickly and put the
topics below into the order they appear
in the text.

2005 YUS5

Yucatan Peninsula

Methods to avoid collisions with
asteroids

[0 99942 Apophis

3b Read the article again and make
notes about the four topics.

3¢ Now work in pairs. Take it in turns to
tell your partner about each of the topics
without looking at the text.

4 I|dentifying facts Read the article again
and find two known facts and two things
that are speculation.

5 Can you think of any other ways of
preventing asteroids hitting the Earth?

SURVIVAL ENGINEERING

as5TeE

A MAJOR THREAT FROM OUTER SPACE

ost scientists agree

that the threat of

a large asteroid or
meteor hitting the Earth is real,
although they cannot predict
when such an event will occur.
However, a recent event in
Russia reminded everyone of
the danger of meteors and
asteroids. In the Urals region, on
15 February, a meteor flashed
across the sky and broke up
over the city of Chelyabinsk
The huge explosion followed by

s shock waves smashed windows,

destroyed roofs and injured
around 1200 people. The meteor
weighed 10 tonnes and was
travelling at an estimated speed
of 50,000-60,000 km/h before
it disintegrated. According to
residents, it was a terrifying
experience

The Earth has been struck
many times in the past by large
objects. A meteorite, estimated
to be about twelve kilometres in
diameter, collided with the Earth
in the region of the Yucatan

3 Penisula (now Mexico) 65 million

years ago. Many scientists

and historians believe that the
extinction of the dinosaurs and
other animals was a result of
this collision.

Just recently, an asteroid as
big as an aircraft carrier passed
within the Moon's orbit. It was
the largest object to approach
the Earth in more than thirty

and came within
325,000 kilometres of the Earth.
NASA, the US space agency,
tracked the asteroid as it
approached, using high-powered
instruments and its massive radio
telescope in Puerto Rico.

The space agency classified
the asteroid as ‘potentially
hazardous' but there was no
danger of it colliding with the
Earth. However, if the asteroid
had crashed into the Earth,

it could have caused a huge
earthquake. If it had fallen
into the ocean, it could have
produced a 20-metre tsunami.

Scientists worldwide are concermned
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SURVIVAL ENGINEERING

GRAMMAR

HE PASSIV

6a The passive is often used for the following reasons.

1 When the person doing the action is not important, not known or
is obvious.

2 When we want to start a sentence with information that is known
or has been mentioned before.

3 When we want to include the person who does the action, we
introduce them with the preposition by.

Look at the highlighted phrases in the article, and match them to the

statements above.

MMAR TIP

We form the passive with a form of be followed by the past
participle of the main verb:
The Earth has been struck ...

6b Look at the article and find all the other examples of the passive
and underline them. Then match all the examples of the passive
with these tenses.

a the present simple passive

b the past simple passive

¢ the present perfect passive

d the passive in the future

e the passive with a modal verb

he threat from asteroids striking
h They agree that action should

N 1o pr an asteroid or comet

h our planet

top space reseaichers are

cularly worried about asteroids. They
send a probe to an asteroid which

=+ Language reference and extra practice pages 142-143

7 Complete the text using either the passive or the active form of
the verbs in brackets.

30 million people kill) by the global flu epidemic of 1918. In
recent years, people (shock) by the arrival of ‘new” infectious
diseases. These (call) superbugs. Many superbugs *____(live!
harmlessly on or in the body and only * (cause) problems when
people become sick with other illnesses. These bugs are particularly
dangerous to people who ¢ (weaken) by surgery, childbirth or old
age. The bugs also” (cause) problems for babies. Scientists say
vaccines capable of beating deadly superbugs like MRSA ® (find)
within ten years. However, some people think that with the rise of
genetic engineering, the world * (wipe out) by a GM superbug.

8a Work with a partner to do a passives quiz. Make passive
sentences using the table on page 157. Write as many sentences as
you can in ten minutes.

8b Compare your sentences with another pair.
What have you got for number 12
The ballpoint pel invented by

8¢ Now dlose all your books. In your groups of four, how many
passive sentences can you remember from the quiz? The team with the
most correct sentences wins.

SPEAKING

9 In groups, look at the following global threats. Choose the three
most serious. Then discuss and rank them 1-3 (1 = most serious).

overpopulation asteroids drought famine earthquakes tsunamis
hurricanes  superbugs  alien invasion genetic engineering  volcanoes

89
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GRAMMAR
XS 7HE PASSIVE

We form the passive with the verb to be + the past
participle of the main verb.
The test is carried out.

Form the passive for each tense as follows:

The Earth is struck.

Meteorites were discovered.
present perfect
future

The theory hasn’t been agreed on.
Mars will be explored.

The rock must be destroyed.

If we include the person who does the action, we
introduce them with the preposition by.
The test is carried out by scientists.

Use the passive when the person doing the action is
not important, not known or is obvious.
A strange message about an object in the sky was left
on a police answering machine.
The space shuttle will be flown twice around the
moon.

We also use the passive when we want to starta
sentence with information that is known or has been
mentioned before.
Twenty scientists are currently on the team. By the
end of the year, they will be joined by 25 more.

IKEH ARTICLES

Use articles in the following ways:

o first and second mention

Use a/an when you mention a singular noun for
the first time.
Tokyo has a major problem with space.
An alternative idea has been suggested.
Use the when we refer to something that has been
mentioned before.
(Tokyo has a major problem with space.) At last city
planners are trying to solve the problem.
Don't use an article with general plural countable
nouns, and when we mention a plural noun for the
first time.
Scientists still haven’t found a way to deter
meteorites.
Satellites will be launched into space. (Scientists will
then use the satellites to look for alien life.)
¢ known things
Use the when there is only one of something.
The Earth’s moon is a natural satellite.
Engineers are designing a train which will travel
under the city.

142

* setuses
Use the with the names of some countries.
the United States, the United Kingdom,
the Netherlands
Use the with the names of geographical features.
the Baltic Sea, the Pacific Ocean, the Amazon,
the Alps
Use the with superlatives.
It’s the largest engineering project of its kind.
Use a/an when talking about a job someone does.
I'm a teacher.
She works as a lawyer.
Don't use an article with the names of towns and
cities, and most countries.
Venice, Paris, Tokyo, Japan, China

KEY LANGUAGE

DISCUSSING OPTIONS, MAKING DECISIONS
What about calling (it'them/that) ... ?

There are other possibilities ...

It sounds good to (me/us).

Well, one option would be to ...

If (we/l/they) called it X, (people) would like that
name.

Mmm, nice idea.

Are we all agreed then?

Have we reached a decision?

I'll recommend (that) to ...

We're all agreed.

VOCABULARY

COLLOCATIONS

build a model/prototype, do (some) research,

do safety tests, find a solution, make a breakthrough,
meet deadlines, solve a problem, test a theory

GLOBAL THREATS

asteroid, alien invasion, collide, collision, comet,
deflect, devastation, drought, earthquakes,
extinction, famine, genetic engineering, hazardous,
hurricanes, impact, infectious diseases, meteor,
meteorite, overpopulation, probe, superbugs, threat,
tsunamis, volcanoes, wipe out

PRODUCTION

aircraft, aviation, flight test, limited number,
mass-produce, modify, modification, model,
prototype, simulation, test drive, wind tunnel
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EXTRA PRACTICE E

EM 1 Complete the second sentence using a
passive form so that it has a similar meaning to
the first.

1 Astronauts fly the shuttle into space.

The shuttle into space.
2 Scientists did the tests yesterday.
The tests yesterday.

3 The company has launched the new brand.
The new brand .

4 They haven't answered our questions.
Our questions

5 Engineers built the new plane in Seattle.
The new plane ___in Seattle.

6 You can play tennis in the morning.
Tennis _____in the morning.

7 The President has announced a new environmental
policy.
A new environmental policy

8 We fire the rockets from mission control.
The rockets from mission control.

2 Read the sentences and delete the agent if it is
unnecessary.

1 She was sacked by-her-employer yesterday.

2 Itwas announced by the Prime Minister today that
he would resign within the week.

3 Itis the third time that the Earth has been hit by an

asteroid in recent years.

The bridge was built by people in the 1920s.

The emergency meeting was organised by our

managing director.

6 The criminal was sent to prison by the judge for
three years.

4
5

W& 3 complete the gaps with the, a or an, or leave
a space if no article is necessary.

1 I'm engineer for a large building firm.

2 The flight stops in _ Tokyo.

3 There's major problem with this idea.

4 We're going skiing in Swiss Alps this winter.

5 We thought we mightgoto  Canada for our
next holiday.

6 She wants to become ___ nurse when she
finishes school.

7 Ithink __ cars are the most serious cause of

pollution in the world.
8 This is one of slowest trains I've ever been

on.
9 The tunnel passes under sea from England to
France.
10 Now __trains run several times a day between

London and Paris. Tickets for trains cost from

£25 for a single.

4 Alocal council is di

ussing what to call

a new bridge across the city’s river. Complete the
discussion with phrases a-e.

>oanos

>0

Well, one option would be
We're all agreed

I'll recommend

It sounds good

What about calling

! to call it Peterson Bridge, after Gerald
Peterson, who did so much for the city in his life?
Hmmm, I'm not sure if that's the best idea. The park
in the centre is already called Peterson Park, so it
might be confusing.” it Broad Bridge. Then
people will know you go down Broad Street to get
to it.

__tome.
Yes, | like that idea, too.
: . We'll call it Broad Bridge. * that to

the mayor, then we can look at changing the street
signs and maps.

5 Choose the correct verb.

SN U AEWN =

Finally, they've solved/made a breakthrough.
We've been doing/finding some research into it.
Did you make/do the safety tests?

Have they built/met the prototype yet?

I'd like to make/test your theory.

We still haven't found/done a good solution.
I've met/solved the problem with the machine.
Do you think we'll meet/do the deadline?

6 Choose the correct word, a, b or ¢, to
complete each sentence.

1

5

There was a terrible between the two football
players.

a collision

b devastation

¢ threat

Can we make some _
a  modifications

b simulations

to the designs?

¢ impact

The industry needs to reduce pollution from
its engines.

a  comet b wind ¢ aviation
Can we the asteroid so it doesn’t hit us?

a  modify b deflect C test

Let’s run another on the computer to see

what will happen in a real situation.

a  modification

b devastation

¢ simulation

We're doing another flight _ on the prototype.
a tunnel

b test

¢ mass-produce
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